R 71'"7 '010 2,30 0°nos L7021

What is the difference between them — WM INRA

Overview

After a lengthy discussion of various 72°2X >M0°X the X3 could not find a
case where according to 7’117 it is X372 N and according to AR "M it is
7R172 MoX. Our MdoIN will suggest that there should be a difference between
X" 7p1) whether certain types of y7m are fX1772 7OKR or AXIA2 NN,

n1voIN asks:
— 0NN 12 PUNY 1922499 NN

The R'"2w+ finds this astounding that no difference can be found between " mpm

2R concerning 7RI MOOKR!
— 2920995 570 5Y 132 PT NHRNY 1IYWPI YN 1799353 NIINT N1SY

The X713 should say there is a difference between 172X "1 P17 in cases of

w2 y»n, and an admixture containing actual grain y%1; for the prohibition

concerning these two items -
— 399NN RY NYNNM DM (3, 1mp9) 129219 IYN W2 1393904

Is derived in the beginning of 3°721¥ Y»X P79 from the P10 of N nxwma b

y»28n; and therefore the difference would be -
— NN YIDIN ¥IWN IVINN N 9INIY DIPN U3 1NAN 229D ANINA AN NIPINdT

That according to P these two items are nNi73 9m» (for they are
derived from Y7580 X% and not from [717% 7"1°77] 29X X?), but according to
AR '3, he maintains that anywhere Y2o8n KX» is said in the 770, it

indicates N7 0K, so MaMyn "y awpn yan would be X372 MOX according to '
172X, There is therefore an obvious difference in 719777 between 1ax ' PN concerning
1"MoX, why does the X3 ask 177712 *xn?!

maoIN rejects a possible solution to this question:
- ANINY TP NN NYIINY 1159 1352997 115 N1dD 599

And if you will say that once m217vn "y Awpn are included in the
prohibition of eating it on 109, then the same prohibition will follow

concerning 77T (and even mpin will agree that they are X372 nmox)“, so there is no
n'"po1 since everyone maintains that they are X372 M0K; then —

! mwpn refers to a type of y»n that became partially ynm; however it is not fit to be eaten.

2 This is referring to regular ynn that was mixed up with other non y»n foods, and there is no n°13 of y»n in
the amount of (time it takes to eat an) 079 N?°2X in this mixture.

35,20 (x2) Mnw.

4 This proposed answer assumes that when the 70 writes 12280 X2 n¥AM» 93 to include Maym awpy, it is
not creating a new Mo’k for them, but rather the 7710 is making us understand that these are also included in
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If this is indeed so, (that the 7%°2% 710°Kk draws with it also the 7817 M0°X like

regular 773 y2n), then he should be liable also for n95 if he would eat awpn
ma1wn >"y. The ruling however is that there is no n73 21 for Ma1wm 7wp,’ indicating
that they are not placed on an equal footing with regular y»r, therefore according to 7°pmn
they should be 7X172 °n» (and according to 172X " they should be aXi72 70K). The
original question of MooIN remains that there is a difference between 1728 '™ 7PN
concerning M211ym awp; why does not the X3 mention it?! MooIN does not offer an
answer.’

Summary
mooIN argues that Awpl yian and yun M217vn should be X172 A0 according

to 7P (and X172 MOX according to 172aX "M); and if it is AXI72 MOX also
according to 7°p11, there should also be a n12 211 (which there is not).

Thinking it over

Why can we not answer N19010 question as follows; that we indeed maintain
that when the 70 added maym awpi to the ynm MO°R it meant to include
them as regular y2n (and therefore it is X372 70K [even according to 7°P11]);
however concerning n7> 21 (even though there should be a n7> arn
[because it is included in the general ynn M10°X]), nevertheless we have (the
various) S0y to specifically exclude maym awpin from 073 211 (but no
71°% to exclude them from 7X317 MOK)!°

the general MR of ynn n7°3X; therefore whatever Mo°R there is by regular y»n [including x17] would also
apply to M2y awpn. See following footnote # 5.

5, If we follow this logic (see previous footnote # 4) then just as X317 Mo°X is added (according to 7p1m) for
MYM WP (since it is included in the regular y»n Mo°X), the N3 21°1 should also be added.

6 See the X3 on X, that we derive from various 2°2109 that there is no N1 21°1 for M2MYM TwPN.

7 See ‘Thinking it over’. See w"X177 Mo0N who answers that since the Mo°X of M21wM "W is derived
from (1298n R nxnnn) 93!, but it is not written w1193, therefore the rule of 1728 ' does not apply.

8 See footnote # 6.

% See also TmM 7"7 '0102 2,75 X"wAn (and 1™ here).
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